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Calculation Enthalpy Changes Calculate the change in thermal energy when the temperature of a pure substance changes Specific heat-commability - Symbol C - The amount of thermal energy, required to increase the temperature of 1.00 g of substance by 1.00 degrees Celsius or 1.00K Specific thermal capacity for some common substances is shown below the
equation to calculate changes in thermal energy q - change in thermal energy - J y mass substance - g substance - J C-1 g-1 or J K-1 g-1 qT - temperature change - C or K To make the equation work, all these figures should refer to one substance Design suitable experimental procedures to measure changes in thermal energy reactions Here, you need to know two
types of experiments. One involves a reaction in an aqueous solution, and the other involves a burning reaction. Simple caloritry is the most appropriate method here. In this type of procedure, the released thermal energy is measured by the transfer of heat to water held by regulators; however, this is an incomplete translation. The calculations of enthalpy change are
based on changes in water temperature and fuel mass. Reactions in Aqueous Solutions These reactions can be made in simple calories, such as a cup of Styrofoam. The volume of water should be known accurately for accurate calculations. There will always be a bug in this dimension as heat is lost in the vicinity, and can The Burning Reactions For these
reactions, we measure the amount of heat produced by burning one mole fuel. Note that this is not necessarily the same as enthalpy combustion. The heat of combustion for the reaction below is actually 5464 kJ mol-1, however enthalpy is twice that's because there are two octane moles involved. When the fuel is used in the form of complex mixtures, the
combustion heat is expressed as kJ g-1 or MJ dm-3 Some examples of combustion heat for certain compounds are given below To calculate the enthalpy change for the reaction using experimental data on temperature changes, reactions and water mass in thermochemical equations, the value for th is always given for the equation exactly as it is written. Thus, if
you double the equation, the HG also doubles. In addition, if the reaction is reversed (replacing products and reactionary), the sign changes. Compare the equations below for example: Calculate the amount of energy released when 500cm3 of methane gas in STP reacts with excess air according to the equation So the energy released in this combustion reaction is
19.9 kJ Assess the results of experiments by determining enthalpy changes Main what you need to do here is to take the results of the experiment, put them in the equation, and make the corresponding calculations. Once you've done You should also be able to consider problems or errors with the results. They should include: In the reactions of burning, heat is lost
in the vicinity There is a big mistake in this method about not allowing thermal energy to be absorbed can or polystyrene cup therefore, Calculated change of thermal energy is an inaccurate Training Goals to Identify the Law of Hess and link it to the first law of thermodynamics and government functions To calculate an unknown enthalpy reaction from a set of known
burn enthalpies using the law hess Identify molar enthalpy formation The compounds calculate molar enthalpy formation from the data on burning using the Hess Law using enthalpy formation to calculate the unknown enthalpy total reaction to calculate the heat developed/absorbed by the mass (or volumes) reactionary. Hes's law states that if you can add two
chemical equations and come up with a third equation, the enthalpy reaction to the third equation is the sum of the first two. This is a consequence of the First Law of Thermodynamics, the fact that enthalpy is a state function, and brings for the concept of connected equations. Combined equations: A balanced chemical equation usually does not describe how the
reaction occurs, that is, its mechanism, but simply the number of reactants in the products that are needed for the mass to be stored. In fact, a chemical equation can occur in many steps with products of an earlier step consumed at a later stage. For example, consider the following reaction of phosphorus reacts with oxygen from dipphosphoric pentoxide (2P205),
50_2 P_4 and then the product of this reaction 2P_20 5, in turn reacts with water to form phosphoric acid 2P_20 5 6H_20 rightarrow 4H_3PO_4 In the above equation P205 is intermediate, and if we add two equations, the equation can be reversed. Hesia's law states that if two reactions can be added to a third, then the energy of the third is the sum of the

depend on the path. Since equation 1 and 2 add to become equation 3, we can say, Delta H_3 Delta H_1 Delta H_2 Hess's Law says that if equations can be combined to form another equation, the enthalpy reaction resulting from the equation is the sum of the enthalpies of all the equations that are npoussoauTs ero. tepwise Calculation of \(AHMcirc_\ce{f}\) Using
Hess's Law Determine the enthalpy of formation, \(AHMcirc_\ce{f}\), of FeCI3(s) from the enthalpy changes of the following two-step process that occurs under standard state conditions: \[\ce{Fe}(s)+\ce{CI2}(g)—\ce{FeCl2}(s)\hspace{20px}AH°=\mathrm{-341.8\:kJ} onumber\] \[\ce{FeCl2}(s)+\frac{1{2}\ce{CI2}(g)—\ce{FeCI3}(s)\hspace{20px}AH°=\mathrm
onumber{-57.7\:kJ} \] Solution We are trying to find the standard enthalpy of formation of FeClI3(s), which is equal to AH® for the reaction: \[\ce{Fe}(s)+\frac{3}{2}\ce{ClI2}(g)—\ce{FeCI3}(s)\hspace{20px}AHMcirc_\ce{f}=\:? onumber\] Looking at the reactions, we see that the reaction for which we want to find AH® is the sum of the two reactions with known AH values ,
so we must sum their AHs: \[\ce{Fe}(s)+\ce{CI2}(g)—\ce{FeCl2}(s)\hspace{59px}AH°=\mathrm{-341.8\:kJ}\\ \underline{\ce{FeCI2}(s)+\frac{1{2}\ce{CI2}(g)—\ce{FeCI3}(s)\hspace{20px}AH°=\mathrm{-57.7\:kJ}}\\ \ce{Fe}(s)+\frac{1H{2}\ce{CI2}(g)—\ce{FeCI3}(s)\hspace{43px}AH°=\mathrm{-399.5\:kJ} onumber\] The enthalpy of formation, \(AH"circ_\ce{f}\), of
FeClI3(s) is —399.5 kJ/mol. Exercise \(\Pagelndex{1}\) Calculate AH for the process: \[\ce{N2}(g)+\ce{202}(g)—\ce{2NO2}(g) onumber\] from the following information: \[\ce{N2}(g)+\ce{O2}(g)—\ce{2NO}(g)\hspace{20px}AH=\mathrm{180.5\:kJ} onumber\] \\ce{NO}(g)+\frac{1H{2})\ce{O2}(g)—\ce{NO2}(g)\hspace{20px}AH=\mathrm{-57.06\ OTBeT 66,4 kX Ha KX
SIBNSIETCA MEHeEe NPOCTbIM NPUMEPOM , KOTOPbIV MAAOCTPUPYET MbICIMTESbHBIA NPOLLECC, CBSA3aHHbIV C PELLEHNEM MHOTUX IOPUANYECKMX NPobieM Xecs. DTO NokKasbiBaeT, Kak Mbl MOXEM HaiTM MHOIo CTaHAapTHbIX enthalpies hopmmnpoBanns (u gpyrue 3HaveHnss QH), ecnu oHM TpyAHO onpeaennTb 3KCNepMMeHTaslbHO. bonee cnoxHasi npobnema c
ncnonb3oBaHnem moHoTopuaa hess's Law Chlorine moxeT BCTynaTtb B peakuuto ¢ pTopoM, 4Tobbl cchopmuposath Tpudtopug xnopa: (i) — (ce'CIF)(g)ce-CIF3 (g) peakuus (i): (i) (ce)20F2 (g)—'ce'02(g) (ce)(ce'2F2)(g) hspace (20px) (h'h'circ_ (ii) (g)(ce'O2'(g)— ce'CI20 (g circ_) 02'(g)—'frac{1H2}'ce (g) 'dfrac{3}{2}'ce-OF2(g) hspace (20px)Hh'circ_ (iv) , (iii) n
(iv) TakmM 06pa3omM, 4YTO OHM cKNagbiBatoTcsa B peakumtio (i). Mepexoasa cnesa Hanpaso B (i), Mbl CHaYana BUAMM, YTO B Ka4ecTBe peakLoHa He0OX0AMM K 3TOMY BOMPOCY. ITO MOXHO MONYYUTb NyTeEM YMHOXeHUA peakumu (i) Ha «dpak{1}{2}», uto o3HauyaeT —{1}{2}, uTo N3MeHeHne «H» Takke ymHOxXaeTcs Ha «(ppak{1}{2}»): dpak{1}{2}-ce'CI20 (g)»frac{1}{2}'ce-
OF2(g)-hspace(20px{1}{2}) Oanee, mbl BUAMM, 4TO F_2 Takke He0O6X0AMM B KayecTBe peakunoHTa. To get this, reverse and halve reaction (ii), which means that the AH° changes sign and is halved: \[\frac{1{2}\ce{O2}(g)+\ce{F2}(g)—\ce{OF2}(g)\hspace{20px}AH°=+24.7\: \ce{kJ} onumber\] To get CIF3 as a product, reverse (iv), changing the sign of AH®: \[\frac{1}
{2)\ce{CI20}(g)+\dfrac{3}{2}\ce{OF2}(g)—\ce{CIF3}(g)+\ce{O2}(g)\hspace{20px}AH°=\mathrm{-266.7\: kJ} onumber\] Now check to make sure that these reactions add up to the reaction we want: \[\begin {align*} &amp;\ce{CIF}(g)+\frac{1{2}\ce{O2}(g)—\frac{1H2}\ce{CI20}(g)+\frac{1{2\ce{OF2}(g)&amp;&amp;AH°=\mathrm{+102.8\ : kJ}\\ &amp;\frac{1{2}\ce{O2}
(9)+\ce{F2}(g)—\ce{OF2}(g)&amp;&amp;AH°=\mathrm{+24.7\ : kJ'frac{1}{2}'ce'CI20 (g)-dfrac{3}{2}'ce-OF2 (g)— ce'CIF3(g) F2'—'ce'CIF3(g)-hspace(130px)overline(H'mathrm)139.2":kJ's (koHeL, »BblpaBH/BaHNe» Reactants (ppak{1}{2} 'ce'02)) u (frac{1{2}'02)) n (frac{1{2}'02) otmeHstoT O2; npoaykT (frac{12} ce 'CI20) oTmeHseT reactant (copak{1H2} ce
'CI20)); n pearupytowmii (dfrac{3}{2}'ce -OF2) oTmeHsieTcsa npogyktamu (Frac{1}{2}'ce-OF2) n OF2. 310 ocTaBnseT Tonbko peakumoHbl CIF(g) n F2(g) u npoaykt CIF3 (g), koTopble SBAAIOTCA TO, UTO Mbl XOTUM. Since summing these three modified reactions yields the reaction of interest, summing the three modified AH° values will give the desired AH®: \
(AH°=\mathrm{(+102.8\:kJ)+(24.7\:kJ)+(-266.7\:kJ)=—139.2\:kJ}\) Exercise \(\Pagelndex{2}\) Aluminum chloride can be formed from its elements: (i) \(\ce{2Al}(s)+\ce{3CI2}(g)—\ce{2AICI3}(s)\hspace{20px}AH°=\:?\) Use the reactions here to determine the AH° for reaction (i): (ii) \(\ce{HCI}(g)—\ce{HCI}(aq)\hspace{20px}AHMcirc_{(ii)}=\mathrm{-74.8\:kJ}\) (iii) \
(\ce{H2}(g)+\ce{CI2}(g)—\ce{2HCI}(g)\hspace{20px}AHMcirc_{(iii))}=\mathrm{-185\:kJ}\) (iv) \(\ce{AICI3}(ag)—\ce{AICI3}(s)\hspace{20px}AHMcirc_{(iv)}=\mathrm{+323\:kJ/mol}\) (v) \(\ce{2Al}(s)+\ce{6HCI}(aqg)—\ce{2AICI3}(aq)+\ce{3H2}(g)\hspace{20px}AHcirc_{(v)}=\mathrm{-1049\ :KJ) OtBeT No 1407 kJ Mbl TaKkkKe MOXEeM MCNOsIb30BaTb 3aKOH Xecs, YTOObI
onpegenutb enthalpy nameHeHne nb6oON peakuumn, ecrim COOTBETCTBYOLME enthalpies hopMMpoBaHMs peakLMOHUPYHOLLMX U NPOAYKTOB AOCTYMNHbI. B pa3gene 5.6.3 Mbl y3Han o kasiopumeTpun 6om6 n enthalpies ropenust, n Tabnuua (Pagelndex{1}) cogepxut HekoTopble Monmpa enthalpy gaHHbIX 0 CxuraHni. B aTom pasgene mbl 6ygem Mcnosib3oBaTb 3aKOH Xecs
MCNo/sb30BaTh AaHHbIE O CropaHun Ans pacyeTa enthalpy peakummn ons peakummn Mbl HUKOT4a He usmepsanu. Ha camom gene, ato gaxke He peakuus Ha cropaHue. Tabnuua (Pagelndex{1}) HarpesaeTcs OT cropaHusi HEKOTOPbIX PACNpPOCTPAHEHHbIX BeLecTB. ObpatuTe BHUMaHUE, YTO OHM SBASKOTCA OTpULATENbHBLIMW, NOCKO/IbKY CropaHue siBnsieTcs
3K30TepMUYeckoii peakumein. OHM YacTo TabyNMPYHOTCS Kak NoMoXUTE bHbIE, Y NpeanoiaraeTcs, YTo Bbl 3HaeTe, YTO OHK 3K30TepMumyeckmne. Kpome Toro, oHn He enthalpies in the context of the chemical equation (section 5.5.2), but the energy on the substance mall burned. Note: Tips for Calculating the Hess Law Following Tips should make these calculations
easier to perform the Write equation you want at the top of the paper, and draw a line underneath it. From the data tables find equations that have all the reactionions and products in them for which you have enthalpies. If the equation has a chemical on the opposite side, write it back and change the enthalpy reaction sign. If the equation has a different stoyhiometric
ratio than the one you want, multiply everything by the number to do it what you want, including the enthalpy reaction Watch video (Pagelndex{1}) to see these steps put in place when solving the example (Pagelndex{1}). Example (Pagelndex{3}) ) Calculating the enthalpy reaction with Hes's Law and The Combustion Table Table (Pagelndex{1})) Calculate the
enthalpy reaction to ettin hydrogen hydrogen in ethane No C_2H_4 and H_2 rightarrow C_2H_6 on (Hess Decision Act) is a consequence of the first law, in that energy is retained. We want enthalpy for reaction (C_2H_4) H_2 (rightarrow C_2H_6 onumber) from the table (Pagelndex{1})) we get the following burn enthalpies (beginning). 1: :; (;; ;- H_2;1/20_2 (right)
H_20:: 5 0 mm sy Delta H_1-286 kd/molon H_2 2H 20 2CO_2 30_2 C_2H_4 umber texteq. 3: »; »; » ; » » » C_2H_6 3/20_2 «rightarrow 2CO_2 » 3H_20 2CO_2; » ; » ; » ; » ; Delta H_3 -1560 kJ/mol end Video Pagelndex{1}) shows how to solve this problem. The trick is to add the above equation to produce the equation you want. So, identify the
species that only exists in one of these equations, and put them on the right side of the equation that you want to produce by following the Councils above. Your final response should be -131kJ/mol Video (Pagelndex{1}): 7'00 YouTube application of Hess Law to calculate enthalpy hydrogenation of ethyent from burnout data ( What is important here is that by
measuring the heat of combustion scientists can obtain data that can then be used to predict enthalpy reactions that they cannot be able to directly measure. This is a consequence of the fact that enthalpy is a state function, and the path of the above three steps has the same energy changes as the way for direct ethylene hydrogenation. We can look at this in the
energy cycle chart (Figure (Pagelndex{2})). Figure (Pagelndex{2}): The steps of the example (Pagelndex{1}) are expressed as an energy cycle. Because enthalpy is a state function, a process that involves a full cycle where chemicals undergo reactions and then reformed back into itself, should not have any changes in enthalpy, that is endothermic steps must
balance exothermic steps. Delta H_1 Delta H_2 Delta H_3 Delta H_4 0, that is, the energy lost in the exothermic cycle steps must be restored in endothermic steps, no matter what these steps are. Exoteric Steps (Delta H_1)) -296kJ/mol (Delta H_2)) -1411kJ/mol Total Exothermic mol Endothermic Steps (Delta H_4 H_3)) J/mol/Total Endothermic No 1697 kJ/Note,
mol, Step 4 shows C2H6 -- c2H4 (H2H4) and, for example, (Pagelndex{1})) we decide for C2H4 (H2---gt; C2H6, which is a step 4 response written back, so the answer to Pagelndex{1}) is a negative step 4. This problem is solved in the video (Pagelndex{1}) above. The standard moly enthalpy hof formation is an enthalpy change when 1 mole pure substance, or 1 M
solution concentration in a solution, is formed from its elements in their most stable states in a standard state condition. In this class, the standard state is 1 bar and 25 degrees Celsius. Note that if two tables give significantly different values, you need to check the standard states. One of the values of enthalpies forming is that we can use them and hesia's law to
calculate enthalpy changes for a reaction that is difficult to measure, or even dangerous. We can look at it as a two-step process. Note that enthalpy formation is a molyar function, so you can have odds no more subtle. For example, moly enthalpy water formation: H_2 (g) 1/20_2 (g) rightarrow H_20 (l); Delta H_fo -285.8; kJ/mol »H_2(g)1/20_2(g) «rightarrow
H_20(g); « Delta H_fo -241.8; kJ/mol This equation says that 85.8 kJ energy is exothermically released when one mole of liquid water is formed by reacting one mole of hydrogen gas and oxygen gas 1/2mol (3.011x1023 O2 molecules). Note that the HFO 'liquid water is smaller than gas water, which makes sense as you need to add energy to the liquid water to boll
it. Table No (Pagelndex{2}): Standard enthalpies forming for certain substances. A more complete table can be found at the table of standard formation enthalpies, which opens in a new window, and was taken from the CRC Handbook on Chemistry and Physics, 84 Edition (2004). Example (Pagelndex{4}): Writing reaction equations for C2H_50H circ_: ce'Ca_3
(PO_4) Decision, remembering that the circ_ reaction equations (circ_ ce'f) to form 1 mole compound from its constituent elements in standard conditions, we have: C2C (s.:se graphite) ce3H2 (g) frak{1H{2} ceO2 (g) —ceC2H50H (1)) (se-3Ca's) frak{1}{2}ce-P4 (s) ce (402) (g)— ce Ca3(P04)2 (s Note) the standard state of carbon is graphite, and phosphorus
exists as P_4). Exercise (Pagelndex{3}) Write the heat of the education reaction equations for Na_2CO C_2H_50C_2H: 4C (s.: se graphite) se5H2 (g) frak{1}{2} ceO2—ce C2H50C2HS5 (I)); Answer b (se-2Na) (s,s,:'ce'graphite)-dfrac{3H{2}'ce'O2 (g)—'ce 'Na2CO3"s") Because enthalpy reaction is a state function, energy change between reactions and products
does not depend on the path. We can choose a hypothetical two-piece pathway by which the atoms in the reagents are broken down into the standard state of their element (the left side of the picture (Pagelndex{3}), and then recombined from this hypothetical state to form products (right side of the picture) (Pagelndex{3}). that the first step is the opposite of the
process for the standard state of enthalpy formation, and so we can use the negativity of the formation of these chemical species. Figure (Pagelndex{3}): A process chart showing the overall process of using enthalpies education to calculate the enthalpies reaction. We break the reactionaries on their atoms in a standard state (contrary to formation) in the first stage
and then form the products of these atoms in the second stage. , gp, is an extensive property and, for example, energy produced by burning two gallons of gasoline is twice as much as one gallon. Thus, enthalpy has a unit of energy (usually J or cal). Molira enthalpies formation are intense properties and are enthalpy on the mole, i.e. enthalpy changes associated
with the formation of a single mole substance from its elements in their standard states. Thus, enthalpies molars have units of kJ/mol or kcal/mol, and are tabulated in thermodynamic tables. It is also not that the equations associated with moly enthalpies on the mole substance are formed, and thus may have non-interger stoichiometry coeffiecents. That is, you can
have half a mole (but you can't have half a molecule. Delta H_ reaction amount m_i Delta H_ (products) - the amount of delta H_ n_i (reactions) m_i; and ; n_i»; text are the stoichiometric coefficients of products and reactionaries respectively (If we look at the process diagram in the picture (Pagelndex{3}) and correlate it with the above equation, we see two things. It's
the opposite. forming them, so this step is negative to their enthalpy formation. Products are formed from their atoms in their elementary standard state forms. This is their enthalpy formation In both cases it is necessary to multiply by stoyhomertic coefficients to account for all species in a balanced chemical equation. This allows us to use thermodynamic tables to
calculate the reaction enthalpies and although enthalpy reactions are given in units of energy (J, cal) we should remember that this is due to the stoyhometric coefficient of each species (section 5.5.2 enthalpies and chemical reactions). Thus, the Delta H_ reaction equation amounting m_i delta H_ f'o (products) - the sum of n_i delta H_ f'o (reactionary) onumber
describes enthalpy changes in how to respond to their stable elementary state under standard conditions, and then form new connections as they create products. Let's take this to burning ethylene (the same problem for which we used combustion data). C2H4 and H2 - C2H6, using the aforementioned equation, we get, Hreaction (C2H6) - Hfo (C2H4) - CHFO (H2) -
84 -(52.4) -0 -136.4 kJ, while above we got -136, mentioning that they are the first correct insignificant digit. Example (Pagelndex{5}) Calculate enthalpy education for acetylene, C2H2 (g) from combustion data (table (Pagelndex{1}), please note acetylene is not on the table), and then compare your answer with the value in the table (Pageln dexon{2}) hcomb (C2H2
(9)) - -1300 kJ/mole-hcombe (C(s)) -394kJ mol/NoHcomb (H2 (g)) in the next video we used Hes's Law, to calculate enthalpy for a balanced equation, with larger odds. It is important that students understand that Action is for the whole equation, so in the case of acetylene, the balanced equation 2C2H2 (g) - 502 (g) ----'gt; 4C0O2 (g) No2 H20O (I) Hreaction (1)
Hreaction (C2H2) - -2600kJ But when tabulating molar enthaply burning, or molar enthalpy formation, it is in mole time combusted or formed. That is, the equation in the video and one above have exactly the same value, only one per mole, the other on 2 mole acetylene. Solution Watch the video below to get tips on how to approach this issue. Step 1: Write each eq.
(beginning of the 2H_20) 2C_2H_2 (g) 50_2 (g) (rightarrow 4CO_2 (g) (9); Delta H_ 'comb’ --2600kJ onumber (s) - O_2 (g) (rightarrow CO_2 (g); B; (; ); Delta H_ -393kJ onumber - 2H_2 (g) O_2 (rightarrow 2H_20 (1); B; (;;; ;) ; » ; » ; Delta H_ crest -572kJ end Step 2: Write what you want to solve (c. to form C2H2). -H_2 (g) 2C (s) (rightarrow C_2H_2 (g) Step 3:
Combine this egs. so they add to the desired eq. If you change the equation change the enthalpy sign if multiply or divide by number, multiply or divide enthalpy by that number (beginning) cancel the color red 2CO_2 (g) H_20 H_20 20_2 C_2H_2 (; ); Delta H_ crest ----frac-2600kJ'{2}) on umber (onumber) 20_2 2C 2CO_2 (s) issue; The questionis; (;);;:; (..

[ [ H 20 20 2 H 2 o o e e e
........... ; (;); Delta H_ crest frac-572kJ{2} end Step 4. Amount of Enthalpies: 226kJ (value in standard thermodynamic tables 227kJ, which is an uncertain figure of this number) Watch the video (Pagelndex{2}) for advice and help in solving this problem. Video (Pagelndex{2}): 6:16 YouTube (Pagelndex{2}) ( Sample (Pagelndex{5})) Identify heat released or
absorbed when 15.0g Al reacts with 30.0g Fe304 (s). Solution There are three tasks to this problem Balance the equation and determine the limiting reagent Calculate Hreaction from enthalpies formation To calculate heat outstanding at full consumption limiting reagent step 1: Al-26.98g/mole (s) subset 4Al 20_3 30.0 d 231.54 g/mole 3Fe_30_4 (s) (left{1}
8molAl'right) - 0.069 (30.0gFe_{3}0_{4}) left (-frak 1molFe_{3}O_{4} 231.54 g on the right) (left (frak{1} 3molFe_{3}O_{4} right) - is a limiting reagent. Step 2: From T1: Standard thermodynamic quantities we get enthalpies of the formation of HRFO (Fe304) HRFO (AI203) HRFO (Al) FFO (Fe) -1118.4kJ/mol -1675.7kJ/mol 0 0 Use Y mi H (products)-> ni Hfo
(reagents) gives Hreaction 4 (-1675.7) - 9 (0) -8(0) -3 (-1118.4) -3363.6kJ Step 3: Basic Warm, released with full consumption of the limiting reagent. (30.0gFe_{3}O_{4}) (Frak-1molFe {3}O {4} 231.54 g on the right) (Frak-3363kJ) 3molFe_{3}O {4} -145kJ' Note, You could use 0.043 from Step 2, 0.043 (-3363kJ) - 145kJ Sample (Pagelndex{7}) Using enthalpies
formation from T1: Standard thermodynamic quantities to calculate heat released at 1.00 liters of ethanol combustion. Solution Watch video (Pagelndex{3}) Pure ethanol has a density of 789¢g/L. Using tables for enthalpy formation, calculate enthalpy reactions to ethanol combustion response, and then calculate the heat released at 1.00 liters of pure combustion
ethanol. Video (Pagelndex{3}): YouTube's decisive example (Pagelndex{7}): Calculating the heat released by burning 1 litre of ethanol ( Exercise (Pagelndex{4}) How much heat is produced burning 125g of acetylene? Answer 6.25 x 103 kJ Robert E. Belford (University of Arkansas Little Rock; Department of Chemistry). Robert E. Belford, rebelford@ualr.edu, is
responsible for the breadth, depth and reliability of this work. You should contact him if you have any problems. This material has both original contributions and content based on previous contributions from the LibreTexts Community and other resources including, but not limited to: Ronia Kattoum (UALR) by Paul Flowers, et al. Open Stax (examples and exercises)
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